
Circuit Logic

What i a Circuit?

Imagine a river (Figure 1). It egin a a mall pring high in the mountain, where the water
ule up from the ground and Øow acro an alpine meadow. A it tumle toward the
ditant ea, alwa in a downhill direction, it ma grow a other tream and river merge
with it. The river normall follow a ingle path. It ma pa through road valle, where
water Øow eail through a wide river ed, or narrow gorge, where it Øow i retricted.
The Øow ma e locked, temporaril,  one or more dam. The energ of the Øow ma
e harneed  mill, hdroelectric plant, and other indutrie. A it approache the ea,
the river ma enter a delta, where it plit into man mall, contantl hifting, channel.
Ultimatel, a the river enter the ea, it journe end.

Figure 1

The river decried aove erve a a ueful analog for an electric circuit. A river i a path
taken  water a it Øow from one place to another. A circuit i a path taken  electron
a the Øow from one place to another. A circuit in which electron are Øowing through a
continuou path i aid to e a cloed circuit. The direction water Øow i determined 
potential diÖerence in height etween the river and the ea. Likewie, the Øow of electron,
or current, depend on the potential diÖerence in charge, or voltage, etween one part of
the circuit and another.

Moreover, oth the river and the circuit have peci×c path through which water (or
current) Øow. Thi path ma e road and ea, providing little reitance or oppoition to
the Øow. It ma e narrow and retrictive, thu providing greater reitance to the Øow. The
path ma e interrupted, a  a dam on the river,  a witch on the circuit, there
cauing the Øow to top. A circuit where the Øow of current ha een interrupted  a
witch (or  impl pulling the plug) i known a an open circuit. Finall, the energ of the
current Øowing through the circuit can e ued to do work, jut a the energ of Øowing
water can e harneed to do work.



What are the diÖerence etween a river and a circuit? Unlike the river, an electric circuit i
a cloed path. Wherea water can enter and leave the tream all along the path, the electric
current originate in one place, uch a a atter. No additional current enter the circuit at
an point along the Øow. Alo, when functioning properl, a circuit doe not loe current,
a a river might. Finall, the water in a river almot alwa Øow in one direction onl.
lectric current ma Øow through a circuit either in one direction (direct current) or in
oth direction (alternating current).



 

Tpe of Circuit

Circuit come in two aic tpe: erie and parallel:

Figure 2: Tpe of Circuit

Current Øowing through a erie circuit ha one and onl one path through which to
travel. A common example of a erie circuit i the doorell found in man home.
Normall, thi circuit i kept open. Rememer, no current Øow through an open circuit.
When the utton outide of the door i puhed, the circuit i cloed, current Øow from the
power ource, through the witch, and through the ell, cauing it to ring. The ell
continue to ring a long a the witch i held cloed.

Old-fahioned tring of Chritma-tree light oÖer another example of a erie circuit.
Current moving through a tring of thee light goe through the wire, then through the
×rt ul, ack into the wire, through the econd ul, and o on to the end of the tring.
Thee tring had a imple deign and were ea and inexpenive to make, ut the had a
ig prolem. If one ul went ad, the current topped Øowing and the entire tring of
light would not light up. To get an of the light to work, the uer had to ×nd and replace
the ad ul. You can imagine how frutrating thi would have een had two ul gone
ad at the ame time!

Can ou imagine what life would e like if our houe were wired a one long erie
circuit? Current would Øow into the houe and through each of the appliance, light, etc.,
one at a time. With thi arrangement, ou would have to turn on ever appliance, TV, and
light jut to ue our toater or clock radio. What do ou think would happen if a lightul
urned out?

Fortunatel, our houe (and newer tring of Chritma-tree light) are wired, not in erie,
ut in parallel circuit. Intead of jut one path, parallel circuit oÖer multiple path



through which current ma Øow. ecaue the current plit up and follow each path
independentl of the other path, it doe not matter if one or more path are open; current
will till Øow through the path that are cloed. Thu, ou need onl turn on the appliance
ou wih to turn on.
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